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Question Number : 1 Question Id : 3354725831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was 5ir C.¥. Raman awarded the Nobel Prize for Physics? | o af # &2 91 21 w09 &1 o & g
TSl Qe & TETI TefearT T arm?

Options:

1. % 1929
= ¥ 1920
3. % 1932
4 % 1923

Question Number : 2 Question Id : 3354725832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Name the national park in Maharashtra that shares the boundary with another national park bearing the same
name in Madhya Pradesh. | AERTE & TIE 1T J2 &1 ATH S0 51 7 UEaT § FH A0 76 U9 S0 TP J2I & @R7 €T
TS AT 2]

Options:

1.IO ® Sanjav Gandhi Mational Park | &= meft Tt g=m
2. % Pench National Park | U= T8 32

% % Melghat Tiger Reserve | ATl aTe S0

4. % Todoba National Park | SIE€T T8 32

Question Number : 3 Question Id : 3354725833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich is a protein that is found in the human body? | FI9 91 T Wi 2 F7 AT ST H 9137 747 27

Options:

1. % Collagen only | #ad ®iekaT

2. % Haemoglobin only | &8 & Aiaalie
2 % Insulin only | Had segiciT

4 ¥ All of the above | SUCH T

Question Number : 4 Question Id : 3354725834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where in Central India are diamonds mined? | 72T YT H 511 &1 &4 T AT 57

Options:

1. ® Palanpur, Gujarat [ UTeA-YY, =T

2 % Shivpuri, Madhya Pradesh | TSege, Tesr udar
Z. ¥ Panna, Madhya Pradesh | UgT, Feg 0

4. % Surat, Gujarat | i, =14

Question Number : 5 Question Id : 3354725835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘Inte%national Yoga Day' is celebrated on ______ of every year. | "Sa0gT T A0 foaw, weAw Ay _______ FT AT

Options:
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1. % 21st June | 21 97
2 % 15th June | 1594
3 % 13th June | 13 94
4 % 1d4th June | 1499

Question Number : 6 Question Id : 3354725836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Constitution of India was adopted on

Options:

1. # 26th January 1950 | 26 =i 1950
2. % 26th January 1947 | 26 T 1947
= ¥ 26th Novernber 1949 | 26 9da¢ 1949

4 % 26th June 1948 | 26 91948

Question Number : 7 Question Id : 3354725837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Ruias-run Essar ©il sold its India assets for $12.9 billion to which major energy comparny? | F5am

TEAR A7 = 12,9 3R 2TaT o 67 T TR @1 aivaqui o a2 31wl &1 o= 417
Options:

1. % Eritish Oil | @& sifae

2 ¥ Rosneft | TEA0T

3. ® Exxon | UFdH
4. ¥ Gazzprom | TFAWTH

Question Number : 8 Question Id : 3354725838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who won the Fanji Trophy Championship in 20167 | 2016 H 0T 26T T8 e s i?

Options:
1. % Mumbai | gag
2. % Gujarat | T=R1d

3. % Tamil Nadu | TEe-S

4 % Karnataka | Fic®

Question Number : 9 Question Id : 3354725839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where was Rajiv Gandhi assassinated at? | Trie T @1 godT #g1 33 417

Options:
1. % Sriganganagar | ST

2. ¥ Sriperumbudur | HUeHggT
3 ® Srirangapatna | SRS
4 % Srirarnpur | #RTATR

Question Number : 10 Question Id : 3354725840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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NEF stands for: | NEFC #7304 &

Options:

1. #¥ National Banking & Finance Corporation | =39 & U8 BIed ® T
= % National Bank for Finance Creation | S & B¢ BIEd ehra

Z. ¥ MNon Banking Financial Company | =1 & [T B T4 &1

4. % New Banking and Finance Corporation | =2 £ U2 HE-d SRaa

Question Number : 11 Question Id : 3354725841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following Indians won the Ramon Magsaysay Award for 20167 | FERET IRd i # & o= 2016 #
A BT [ER T S a7

Options:

1. # Bindeshwar Pathak | e w oo
2. % ajoy Kurmar Dutta | SR AN a0
= ¢ T .M. Krishna | 1.0 3w

4. % Kailash Sathyarthi | Famer qearef

Question Number : 12 Question Id : 3354725842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The state that was formed by bifurcating Madhya Pradesh is
& TeraT T W

Options:

1. % Chhattisgarh | F5ETS
2. % Jharkhand | STRETE
3. ® Uttarakhand | STRETE

4. % Eihar | Tgw

Question Number : 13 Question Id : 3354725843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Udayagiri caves are located at

Options:

1. ® Ujjain | 399

2 Vidisha | &g

3. % Khajuraho | SR1gT
4 % Mandu | A

Question Number : 14 Question Id : 3354725844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
what is Ratlam famous for? | 9 T &0 nieg 27

Options:

1. #% Cotton and wheat | ®g e Tig
2. ¥ Sev and gold | ¥ 0F =T

3. % Sevand cotton | T U U

4. % Gold and wheat | §H1 0= g
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Question Number : 15 Question Id : 3354725845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Whose life-size idol is in Rajgaddi and Rajwada? | TFITe! U 12T § FradT sgHes ST o g 27

Options:

1. Ahilva Bai | SfeeamaTs

2. % Lakshmi Eai | d5HETE

2. ® Maharana Pratap | AgROT 0dd
4. % Raja Bhoj | AT 9=

Question Number : 16 Question Id : 3354725846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhere is the hilly fort in Damoh situated? | g # UETST AT F51 02T &7

Options:
1. % Singhorgarh | g
2. % Baurbari | SXeRT

Z. % Fatehpur | Bdgq{
4. % Asirgarh | s

Question Number : 17 Question Id : 3354725847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Indira Gandhi National Tribal University isin ______ .| T et T e 1 e

Options:
1. % Rewa | 4T

2. % Alirajpur | STHRFT
= ¥ Amarkantak | SEEE
4 % Satna | /94T

Question Number : 18 Question Id : 3354725848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

___________ was the Captain of Indian cricket team whern it won 1983 World Cup. | 99 1953 Toea %7 SiiaT 2,
A 17 Tehehe S oF ST N

Options:
1. % Rahul Drawvid | g ﬂiaE
2 ® Saurav Ganguly | @ T

= ¥ Kapil Dev | #itdsd
4 % Sachin Tendulkar | 9 dgaFC

Question Number : 19 Question Id : 3354725849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_________ of Madhya Pradesh is famous for nail art and nail painting and has a patent in the same. | 7ed W&
: AT T U AT 4o & Ty wieng 8 0d g6t § 378 tewe UTHe &

Options:

1. % Wajid Khan | 91f4g @9
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2. % MF. Hussain | TR.UF. g9
Z. ® Raja Favi Varma | T Tie awf

4 % Satish Gujral | T 197 =0

Question Number : 20 Question Id : 3354725850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Sardar Sarovar Darm 15 built on the

Options:

1. ¥ Narmada | 7Har
2. % Betwa | &aar

3. % Son | AF

4. % Chambal | =&

river. |

General Maths and General Aptitude

Section Id : 335472154

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472154
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arish picks six different digits from the set {1, 2, 3, 4,5, 6,7, § 9, 10} and puts them in the
squares in the figure shown so that the sum of the entries in the vertical column is 23 and the

sum of the entries in the horizontal row is 12. The sum of the six digits used is____ /

3NY TH== {1,2,3.4.5.6,7.8,9,.10} # ¥ S f&edd 37 A Ioiar g, 3R 3¢
feam av g & 9t & 59 uyeR @ar ¢ & vl &1 area Fuerr wag A7
23 T afclist dfdd & 12 §idr &1 UgFd ©F 3l & AqEhel ¢l

wd

Options:
1. % 27
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2. ¥ 29
3. % 31
4. % 33

Question Number : 22 Question Id : 3354725852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What nurmber must be removed from 1, 2, 2, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 50 that the avera 1I'1CI‘EE[SES

t08? /1,23 45 6 7.8 9,10, 11, 12, 13, 14 B & f5d o7 &7 ge1 277 a1y R By afiea # 8 &1
Options:

1. % 14

= %13

3 % 12

4 v 1

Question Number : 23 Question Id : 3354725853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

x 2 . (4x+2y) x_ 2 5 (4x+2y)
1f;—§,thenwhatls m?f'&lﬁ; ;—E,Fﬂ' ', = ) =T g7
Options:
1. % g2
2 ¥ 7z
38 2z
4 ® 32

Question Number : 24 Question Id : 3354725854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An oper cylindrical can of radius 7 cmand hei ht 14 cmneeds to be made from a tin sheet. What is the total

area of sheet required? | UF 9 & =@ & 7 AT AT 14 AHT TS 1ol Gol SeTAR R TEed 1 T Wl ATTIwaT 2l
ST & Fed (el S W ATIIZFTT 517

Options:

1. % 618 5Q.Cmn
2. % 154 sq.cm
2. ¥ 770 sq.0m

4 % B00sg.cm

[ 616 a7 aut
| 154 a7 awt
| 770 = A
| SO0 T FJHt

Question Number : 25 Question Id : 3354725855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

[1:::4 +10° )
/’z?

[1:::5 *1{:7}

Options:
1. % 001
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= ® o000l
= % 0001
4 % 00001

Question Number : 26 Question Id : 3354725856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
4x? — 12xy +9y2 =?
Options:

, w (@x33y)
, x Gx2y)
2 o (EX_SY):

4 ® [3]{_ EY):

Question Number : 27 Question Id : 3354725857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the average. | #Ha T T

58, 73, 21, 48, 10
Options:
1.9 42

> ® 33
I % 5o
4 ® g2

Question Number : 28 Question Id : 3354725858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If+/39.0625 = 6.25,then v 0.0000390625 is equal to: / I E v39.0625 = 6.25 %,

o1 /0.0000390625 &I B

Options:
1. % 00EZS

= % 003925
Iz ® 0 EZS
4 ¥ 000EZS

Question Number : 29 Question Id : 3354725859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The ratio of the nurmber of boys and girls in Class is 2:2, respectively. If the number of boys is 20, then the
nurnber of girls will be: | BT H FA=®! ST ASThAT il TEAT T S WA 2:3 71 AT ASh! &1 G=a1 20 §, T A 01 bl
E@T@'ﬁ:

Options:

1. % 20

2. ¥ 30

2. % 5o

4 % 10

Question Number : 30 Question Id : 3354725860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Herna walks 7 km from East to West and turns right to travel 2 km. She turns right and travels 5 km. In which
direction is she positioned now with respect to the starting point? | w o TP & &1 7 TorET et 7 o e 2t
g 2 Tt Bl TE ST OSdl § | S 3 TFAT 8] aﬂ%wﬁl—gﬁa‘ o et aF e fean | o B

Options:

1. ¥ North East | 3¢ O

2. ¥ North West | 39% T
2 % MNorth | F9¢

4 % MNone of the above | T8 & F1E 751

Question Number : 31 Question Id : 3354725861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A 200 long train CI‘:CJSSES a platform i 249 seconds and a pOlE in 18 seconds. The length of the platform
is___. | U 200 HITT Al ¥ U Tl BTH & 39 JF0E § 97 U TR0 &1 18 9902 § U1 #ed T 2] '«gﬂ'ﬂﬂﬁfﬁm _____ B

Options:

1. % 650m | 650 Hfex
2 ¥ 350m | 350 #tet
3. % 250m | 250 HET
4. % 450 m | 450 dter

Question Number : 32 Question Id : 3354725862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the next term of the given series. [ ST THT %A &7 30AT U2 F1F F4
1,2 6 11,158, 29, .

Options:

1. % 28

2 %56
2942
4 % 52

Question Number : 33 Question Id : 3354725863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man sells two articles at the same price. On one he makes a profit of 21% and on the other a loss of 31%.
What is the percentage profit or 10ss he makes overall? | U slih & 0 e W o degell &7 fowa frm U e 3a
S 1% T AT W T 90T S0 U 3 1% w1 g1 0T eﬁgﬁrﬁﬁﬁwﬁwwm@ﬁmfﬁ%

Options:
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1. % 0%

2. % 961% profit | 9.61% 7T
3. % g2y profit | 62% AT

4 ¥ 961%loss | 9.61% T+

Question Number : 34 Question Id : 3354725864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 100 men can do mariiéobs in 100 days, then 1 man can do 1 jobin: [ I 100 &7 100 At 8 100 Ff #¢ g@d
% 1 1 ks @t we s e # F

Options:

1. % 1day | 1T

2. ¥ 100 days | 100 2T
% % SOodays | S0 RA
4, % 10days | 10TA

Question Number : 35 Question Id : 3354725865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

10 years ago, Vikas was three times as old as Raunak. Now Vikas is 40 vears older than Raunak. Find the
respective present ratio of ages of Vikas and Raunak? | 10 99T qd, fawma 9@ & §19 737 927 am o e (9% &
40 99 F27 21 T S e S ad 0T 7T 7 SIgaTd FHT AT B

Options:

1.¥ 7.2

2 % 7.2

3% 102

4. ¥ None of the above | 598 & F1E 751

Question Number : 36 Question Id : 3354725866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The smallest nurmber of 4 digits which when divided by 6, 8, 12 and 20 leaves no rermainder is: | 4 3! &l
e wan "], BE 6, 8, 12 Ud 20 | ETiHd @ 0 B IS A5l WH g s

Options:
1. % 120

2. % 1040
3. ¥ 1200
4. % 10380

Question Number : 37 Question Id : 3354725867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Ifthe surface area of sphere is 314cm?. then the diameter of the sphere is (take 1=3.14): / IT¢;
Uk e T JSOIT ATAhA 314 JAR §, a7 e T AW E (=3.14 T 1)

Options:

1. ¥ 10cm | 10 G4

2 ® Som | 5 EEr
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3. % Zeom 2 EEr
4 ® 7cm | 7 EE

Question Number : 38 Question Id : 3354725868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
275 X ()2 x 3° =2
Options:

1.%¥0

2 %3

3.9 1

4 % 2

Question Number : 39 Question Id : 3354725869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The speed of P and & is in the ratio 5:8, respectively. When they both travel a distance of 50 km, one of them
takes 6 h more than the other. What is the speed of the faster one in kinfh? | P &l® Q & T AT 5.8 F U@ H §
| Srel & ST 50 Torat @t ot o AT wd |, 91 U A | 6 ©E arfey Fd g STier o i eter @bt et e # mid e g7
Options:

1. % 10km/h | 10 fedt)eeT

2. % 16 km/h | 16 TET/ERET

3 % 3.125km/h | 3.125 frdtger

4 ¥ Skmjh | 5 e

Question Number : 40 Question Id : 3354725870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is an irrational number? | FEERET # € $19 UF i 9ET 27

Options:

1. ® 023535

2 ® .f225

3.9 01011101101

4. % 2 14268

Gerneral Hindi

Section Id : 335472155
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

20th Dec 17 Shift 1



20th Dec 17 Shift 1

Sub-Section Number: 1
Sub-Section 1d: 335472155
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T et & TR § s Ay st AT & Pt & @ ane E -

Options:

1. % aramw
o % gumn
3. % SremmT
4. % mEm

Question Number : 42 Question Id : 3354725872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AYEe v # e w=i forar AT 87

Options:
1. % =gt
2 ® Haat
z ¥ g
4. % guf

Question Number : 43 Question Id : 3354725873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Tt oF S H e TH GG @1, I Fad -

Options:

1. % gFg &0
= R I eEw
3 % T Y
4. ® EER

Question Number : 44 Question Id : 3354725874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SEAR el WEIHTER T del W o g o g
Options:

1. Tgegr-Tgar

2 % TIT-TT

3. % et

4 % FzT-3z=T

Question Number : 45 Question Id : 3354725875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Groien beeico SRR F A EATE -
Options:

1. %7
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2. ¥
3 %
4 % 7

Question Number : 46 Question Id : 3354725876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“TITT T Ui el o # 4 & |1 57

Options:

1. % Jar

2. o gl
2 ® arfddiy
4. % FE

Question Number : 47 Question Id : 3354725877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

et T greg 51 ¥ o Ow ae P A A A A
Options:

1. mifta

2 % gifig

3. % i

4 & grifam

Question Number : 48 Question Id : 3354725878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T T A Eege Mg A F T AT e

Options:

1. % T e
2. % it
3. % ey e
4. & i+t

Question Number : 49 Question Id : 3354725879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o @7 Tiem g PR H S S ATE?

Options:

1. % amie
2. ¥ amd
3% g
4. % gamed

Question Number : 50 Question Id : 3354725880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“arfd o | T Teg g H H @ Y

Options:
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1. % amqEE
= o afEts
3 % fom

4 % aftT

Question Number : 51 Question Id : 3354725881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e e d FadE e araam 27
Options:

1. ¥ alcadTe Jam

= % mHuwg g
3. % TmremEE

4. % qgeiity ward

Question Number : 52 Question Id : 3354725882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

I T AT FETe 7 o g # | e
Options:

1. ¥ FEd e Tgr

2. % ogd e AT

% % 3T O SE TEAT

4. % FEd g AT A

Question Number : 53 Question Id : 3354725883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T H I ST gerak @ onf T H H e ar gy

Options:

1. % T H I ST T a7
2. % ggam g

3. ¥ s AT

4 & g

Question Number : 54 Question Id : 3354725884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“WTe T g &0 g H @@ arg?

Options:

1. % 9y
2 o dax
3 %
4. % R

Question Number : 55 Question Id : 3354725885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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"EITE— T ol Tiele T,
W Tl AT FA- g H
T Uil | @I |7 SIFw I 51 dg1 fowey -7

Options:

1. ¥ auTe aIF®R
2. % wUF AT

3. ® JUHT SFEET

4 ® #@Y TR

Question Number : 56 Question Id : 3354725886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T TaeE eg g - g
Options:

1. % faug

= EE

3. ® Ty

4. ¥ Iy

Question Number : 57 Question Id : 3354725887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T TEre! Bl egie g A ot S § U aITieE Je P T g gand, J9H B9 a7 G § -
Options:

1. & qoqey aug

2. % ey gHg

3. ® g amg

4, ¥ FHART A

Question Number : 58 Question Id : 3354725888. Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FET T T ST I T 57

Options:

1. % gifd

2 % fyEg

3. % Ty Wik
4 & g

Question Number : 59 Question Id : 3354725889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T FATEE R -
Options:
1. v ar
2 % d=
3. % =R
4 % Ui
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Question Number : 60 Question Id : 3354725890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T # R g g gy

Options:

1. & T afer
2. % 17T
3. ® I gt
4. ® am7iE |

Eural Econormy and Panchayati Raj

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

335472156
4

Online
Mandatory
20

20

20

Yes

No

1
335472156
Yes

Question Number : 61 Question Id : 3354725891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following schemes do Panchavats have MO direct role to play? | TFgieEg 8§ 9 g a1 | demaagt

T BTE Heda AT TR gl g7

Options:

1. ¥ Mahatma Gandhi Mational Rural Employment Guarantee Programme | AgTeAT T S2ma &a TFargde Teer

T
2. ¢ Bharatmala project | ATHTAT e

% % Rashtriya Shram Vikas Yojana | (T8 &0 T T

4. % Mid day meal scheme | T2 2 AT W

Question Number : 62 Question Id : 3354725892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Howr many tier systern of Panchavyat Raj is operating in Madhya Pradesh? | A USa H W=MAT 06 91 Tehd= &40

AT = 1T 57
Options:
1. % 4
z ¥ 3
3% 2
4. % 1
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Question Number : 63 Question Id : 3354725893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following regions of M P produces maximum soybean? | AT TEel & Fgieag a3t § § #19 a7 afdeaq
ATATe T T IoHTE mm%’?

Options:

1. #® Bundelkhand | gémas
2. % vindhya | T

3. ¥ Malwa | AT

4. % Baghelkhand | Teags

Question Number : 64 Question Id : 3354725894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Project Akanksha' has been launched in which district of Madhya Pradesh? | 720 03 & 19 Fel # ‘Wee
STFTHT T JEATT 1 10 217

Options:

1. % Mandla | g=aT
2. % Dindori | E=n
3. % Ratlam | o™
4. % Jhabua | ST

Question Number : 65 Question Id : 3354725895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich among the following states is the largest producer of rubber in the country as in 20167 | @4 2016 &
T 0¥ ST o H & F9 G779 tas F1 9o 951 Jeulad 57

Options:

1. % Tripura | By

2. % Meghalaya | HOT&T
= ¥ Kerala | 99d

4. % Tarmil Madu | flﬁ'l?-|§

Question Number : 66 Question Id : 3354725896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Gramin Ehandaran Yojana’ is a capital investment subsidy scherne for ________ .| TITHIT ST AT
I e e e 2
Options:

1. # Construction of Safe-deposit Lockers in Villages | Tal # &h- 20T @t T A

2. % Construction of houses in rural areas | TTHT &=1 # =571 %7 T#AT

% % Building cold storages at villages | Tat # sfigmmt &7 A

4. % Construction of godowns in rural areas | THIT &31 H AT &7 AT

Question Number : 67 Question Id : 3354725897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Balwant Hai Mehta Corrrrittee was appointed to réview

g e T e

Options:

T AT T o T
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1. % agricultural Development | F @

2. % Panchayati Raj | t=Ima= T a0

% % Electoral systern | TefeT et

4 Cornrmunity Developrment Prograrrme | ATl e TEad

Question Number : 68 Question Id : 3354725898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Government of India implemented the National Programme for Organic Production (NPOF) in the

| AT A o Y H S THTH BT AT T HIZdan (T ie® Jeaie- S (Tautsl) &t a@my
Options:
1. % 19497

2. ¥ 2001
3% 2008
4 % 2015

Question Number : 69 Question Id : 3354725899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Naticnal Land Fecords Modernization Programure (NLEMEF) was launched by the Government of India in

________ . TSI i S e T T iR (TAUATRH) AT 9™ g/y ________ H 9% T em
Options:

1. % 1998

= ¥ 2008

3. % 2014

4 % 1988

Question Number : 70 Question Id : 3354725900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Madhwva Fradesh Sugarcane (Regulatign of Supgly and Purchase) Act received the assent of the President

_______ | T W T (AT S e T ) aﬁ_______ﬁueuﬁ“fﬁﬂsnﬁ“mgé

Options:
1. % 1949

2. % 1952
3. ¥ 1959
4. % 1962

Question Number : 71 Question Id : 3354725901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to Indian Courncil of Agricultural Research, New Delhl i 2014, the 501l organic carbon content in

most of the soils in the plains in India was less than _____ W 1 i Sﬂﬂwqﬁﬂa % Tawell & @R, 2014 °
g ® AT a=t # arfdera ggret | 9 e ded @ram@

Options:
1. % 4%

2. % 3%
Z% 2%
4. ¥ 1%
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Question Number : 72 Question Id : 3354725902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Inn India, the Mational Dairy Developrnent Board (WDDE) was constituted in September: | ART d gy )
TP S0 T 18 (TS TS ) T ITa- o T 4m

Options:

1. % 1949
=z ¥ 1965
3. % 1966
4. % 19639

Question Number : 73 Question Id : 3354725903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
when did the Ealwantrai Mehta Cornrmittee subrmit its report? | Seaderd HgdT @iifd = ST Waie @ meqd o7

Options:

1. % 1958
2 ¥ 1957
3. % 1958

4 % 1959

Question Number : 74 Question Id : 3354725904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who are the principal authorities in the implementation of MGNREGA? | AR & Fairaos & o g uriime &

Options:

1. ¥ District Adrministration | F@T wm

2 ® DRDA | ERIRENT

2. % Panchayat Baj Institutions | W=&e €= T

4. % Rural development Department [ ITHT & 2T

Question Number : 75 Question Id : 3354725905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the objective of Central Semen Station established in Madhya Pradesh 7 | W2 ey § ®O0T et A0
TEA W TEI FAT 57

Options:

1. #® Breeding of high quality fish | J== T a6 AT & -
2. % Research in Agriculture | F8 H ae FeAT

3. % Marketing of cattle | ATt &7 o FaT

4 Breeding of high quality cattle | Ig[ ToTamT ool Helf9=0t & U=

Question Number : 76 Question Id : 3354725906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which MNationalised Eanl: has established highest nurnber of Bural Self Em ID‘j.FITlIEI'lt Training Institutes (RSETI
in Madhva Pradesh ? | Aeaney § 50 T e o = T S1aT WTH S M WS e (w:m%ﬁmﬁ) T fea?

Options:
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1. % Bank of Baroda | <& oTF a=iar
2 % Union Bank of India | I «f@ T iz
= ¢ Central Bank of India | #ga d& TF g2
4. % Allahabad Bank | SARTERE dF

Question Number : 77 Question Id : 3354725907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The rmission to improve agronormic practices through interactive information dissernination and adogti@n of

modern technologies in agriculture is known as ______ .| T H Rt TH 1T e I ST
& T & P Ararell SRaTal ®1 e & o s T T &1

Options:

1. #® apgriculture Information Mission | U@ S-EB IR Ham

2. % Knowledge Centre Mission | FTer gt e

=, ¥ MNational Mission on Agriculture Extension and Technology | =3 THa 39 Tiidear Taad o= US SHiara

4. % State Mission on Dissermnination of Agriculture Information | #&2 e 9 EaH—T TF Tiige=r 550"

ATH & T AT AT 7

Question Number : 78 Question Id : 3354725908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘i%mich % t_%l?e following is NOT a feature of Panchavati Raj in India? | g # ey & @ o9 of tamd o &t

Options:

1. # 3 tier systermn | TEeaoier saawm

2. ¥ Collection of mermbership fees frorm villagers | TTHITT 8 HEEAdT Jo &1 U
3. % Regular elections every S years | €5 AA1 § HAHT g1

4 % Reservation of seats for SCJST /Wormnen etc. | SIET ST S Srarid | Aigersi Seaie o oy #iet @7 amesm

Question Number : 79 Question Id : 3354725909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which arnong the following 15 MOT an ared of training imparted %Rural Self Emplovment Training Institutes?

| TTHTOT a2l TR WTSaoT o=t gy ey 1y ey # fo I &9 AT 8T 751 27
Options:

1. % Pumpset maintenance | TOET &7 (EET

2 # Research in Agriculture | F § argae

3. ¥ Poultry | g ITed

4 % Cornputer Basics | HET & T dod

Question Number : 80 Question Id : 3354725910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Deen Davyal Upadhvaya Gram Jyoti Yojana replaces which of the following erstwhile schemes 7 | 219 23Td
mmmvwgﬁmﬁﬁﬁﬁﬁﬂﬁﬁﬁrﬂﬁmaﬁuﬁwﬁﬁﬁm%?

Options:

1.p ® Integrated Rural Development Programme | S¢RE ¥d SaadHe WA

2 ¥ Rajiv Gandhi Grameen Vidyutikaran Yojana | Tria et T e meor I=mr

3. % Sampoorna Grarm Rozgar Yojana | @i OTH TR T

4 % Deen Dayal Upadhyay Gramin Kaushal Yojana | $F 276 SUTRIT TTHIT & 196 AT
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Cormputer Knowledge

Section Id : 335472157

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472157
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Monitor is a jan; | AT-eL 5T s

Options:

1. ¢ Cutput device | #deye iZamzd
2. % Input device | SI¢ &aEq

3. % Cornputer | HET

4. % Memory | HANT

Question Number : 82 Question Id : 3354725912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
__________ is NOT an operating systerm, | e | 2T A 51 &1

Options:

1. ® DO3

2. % Windows
3. ¥ Java

4. % Tnix

Question Number : 83 Question Id : 3354725913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT an anti-virus software? | FAGTRET § & B9 % U d0cay T8 a7

Options:

1. % Norton | =T

2. ¢ MySCQL | ATE T
% % Kaspersky | e
4 % Mchfee | Tt
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Question Number : 84 Question Id : 3354725914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the default file extenision of notepad files? | RIS T5d F1 I2HTAT B5eT Ugec I F4T 57

Options:

1. % POF
2. % DOCH
3. ¥ THT
4 % MP3

Question Number : 85 Question Id : 3354725915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following refers to the vertical cells that can also contain information in M5 Excel? | FE A& @9

THIE UFAHA H aiedhe O @1 29 FdT 5, el s of 51 a1 27
Options:

1. ¢ Columns | §399

2 % Rows | ORear

2. ® Horizontal Scrollbar | gi=ed @ ida

4. % pMone of the above | S0 § HIE 51

Question Number : 86 Question Id : 3354725916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Excel, if data in rows or columns are needed for formulas but should not be visible in the sheet, vou can:

| A e H, Tt Ga o Ty et e § 22T o e ), it Sfte 0T g FE g ARy, a1 o,
Options:

1. ¥ freeze the row or column | TR I7 &3 &1 h B¢ T@d &

2. % filter the row or colurmn | T a7 ¥ 1 et # 9Fd &

=, ¥ hide the row or column | 9 27 w9 &1 T80T a@d &

4, % remowve the row or colurmn | ke 7 &6 #1527 T 5

Question Number : 87 Question Id : 3354725917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

You are receiving e-mail frorm your manager. The e-mail has attachments of 5 MS Word docurnents. How
many attachments will you be able to view? | 37 &0 Werteh § SHA WYT @ed 3 A § 5 TH.UH. 92 SHgHe §erild 5]
T AT o Fer?

Options:
1. %1
z ¥ 5
3. % 3
4. #® 2

Question Number : 88 Question Id : 3354725918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the kind of network that is needed to connect computers in school, computer laboratory or offices? |

TEraTe, FET WIS A7 FTaieat § W] ol Al o (o] o WK o oo &l SIaeadal gl 57
Options:
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1. ¢ Local Area MNetwork (LAN) | TR 83 TTAFH (04)

2. % Metropolitan Area Metwork (MAN) | HETATRT 83 FTAFH (54)
3. % Mobile Area Network (MAN) | I 87 JITAwH (54

4, % Wide Area Networlk (WAN) | T2ega &7 A0@H (29)

Question Number : 89 Question Id : 3354725919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the ‘Father of personal cormputer'? | TH-Ae BUIIET H S-F H1 g7

Options:

1. % sngusta Adarning | STTEET T2 THT
2. ¥ Edward Robert | UZa2 Uae

3. % Charles Babbage | TTHd sla

4 % allen Turing | Ued &[T

Question Number : 90 Question Id : 3354725920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In M5 Word 2007, from which menu you can insert Header and Footer? | UTATE @& 2007 H, o0 B B 9821 o
T Ee o e 57

Options:

1. ¥ Insert Menu | 3968 O
2 % View Menu | A

3. % Home menu | 5T

4 % Page Layout Menu | U #8137 B

Question Number : 91 Question Id : 3354725921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which icon is used to “undo” in M5 Word? | TATE 72 # undo’ & o0 @R sEETT @ Ui e TET e

Options:

1. %

K7)
2
..
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Question Number : 92 Question Id : 3354725922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Free of cost repair of software bug available at Internet is known as: | §ev-c W IUA AFCaR 91T FT 1 J7F
T e g
Options:

1. % Patch [ B9

2. % Tutorial | SEITA

2 % iAddon | Uz A
4 % anti-bug | dera

Question Number : 93 Question Id : 3354725923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used to underline the selected text in MS Word? | THTE g2 H, ISTAET 34 & 60T dTede grair

Options:
1. % Ctrl+U

o % Alt+1T
2% Ctrl4alt4+U
4 % Alt+Ctrl+

Question Number : 94 Question Id : 3354725924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sending an e-rnail is similar to: | $-0a 991 0T F A §

Options:
1. % Writing a letter | UF forgAT
2. % Drawing a picture | =& F=M1

%, % Talking on the phone | S 0T &lld @617
4. % Sending a package | Ta ST

Question Number : 95 Question Id : 3354725925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& hardware device that is used to print text and graphics from a computer onto paper is krnowr as: | 95 gledat
TEamEd Fa®T JUTNT et & SPaT o TIhEd B T 0T e F-1 o T T AT &, FEamal &

Options:

1. % Herox | SRIFd

2 % Fax | B9
3. ® Scanner | GHAT
4 " Printer | fiex

Question Number : 96 Question Id : 3354725926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A collection of 8 bit is called | & Tele FTEug

Options:
1. ® nibble | EIELEIEI
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2. ¥ pyte | AET
2. % double word | ZaA-T2
4 ® yord [ T2

Question Number : 97 Question Id : 3354725927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In M5 Word, the first step to be followed for changing the line space is: | TATH 92 H, 715 9UF Tiaid g @< & oy
ST ST STAT Tgell @R 3

Options:

1. % Read the content | @de & TZAT

2 ¥ Select the content | Fde &1 Aelde HAT
Z. % Change the style of the content | Fée & GeIga agaT
4, % Click on page Layout Tab | UF #3T3T 3 0 & @eT

Question Number : 98 Question Id : 3354725928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a leading web browser? | FRARTET § & %19 0w it oe FEaew 87

Options:

1. # HTTP | HTTP

2. % FTFP | FTP

3. % Internet explorer | T RE LI CE

4. % pone of the above | IIRIEd H & 12 51

Question Number : 99 Question Id : 3354725929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
There are totally ____ computer generations knowr till today. | I 9% F0e1 &1 Fal

Options:

1. % two | gf
2 % three | d19
2 % four | I
4 ¢ five | U=

Question Number : 100 Question Id : 3354725930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Excel 2007, Chart group is availablein _______ tab. | AT T 2007 ® I g0 _______ T § IO BT B

Options:

1. ¢ Insert | 546

2. % Page Layout | U #leae
2 ® Data | 227

4 % View | 99
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